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Nahiperboli —% + 2—4 = 1 odredi tocku kojoj je udaljenost od jednog Zarista
. 9
jednaka >
X2 y2
—3—6+6—4—1 = a=6, b=38
€=a’+b’=36+64=10 — e=10
F12(0,£10)
T (X0, Yo)
9
d(F1,T) = >
9
Vi 02+ +102=5 /2
8l
X2 + Y2 + 20y + 100 = 7
319
X(2)+Y%+20y0:—7 1)
X% Yo .
{T}eH = 36+64_1 /- 576
319

(1) :>x§+y3+20y0:—T /16
— 16%3 + 9y3 = 576
16x3 + 16y3 + 320yp = —1276}
25y5 4+ 320yo = —700 /:5
5y2 + 64y + 140 =0
—64+ /4096 — 2800 64+ 36

(Yo)12 = 10 -~ 10
(Yo)1 = —2.8 nijerjeSenjejer —b < (yo)1 < b
Yo = —10

—16x3 +9- 100 = 576
—16x5 = —324 /:(—16)
324 81 9
2 = — = — = —_
N=T1g =g = M=%
. 9 . 9
T12 udaljenaza > od F; je Tl,z(—é,ilo) ,

. 9 . 9
T34 udajenaza > od F;, je TLZ(E,ilO) .





